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Part I.  True-False Questions (1 point each).  Indicate on the answer sheet provided whether each of the following statements is true (T) or false (F).

1.
Discrimination keeps an economy operating at some point inside its production possibilities curve. 
2.
Free trade allows a country to consume a bundle of goods that lies above its production possibilities curve.
3.
A simultaneous increase in supply and demand must lead to an increase in the equilibrium price and quantity.
4.
An effective price ceiling causes a surplus.
5.
When demand is elastic, an increase in price will lead to increased consumer expenditures on the product.
6.
The price elasticity of supply decreases the longer the time period.
7.
Import quotas produce the same amount of revenue for the government as a tariff.

8.
When marginal product is positive but falling, output is increasing at a decreasing rate.
9.
When the average product curve is at its maximum point, average total cost is minimized.

10.
If every firm in a perfectly competitive, constant-cost industry has an increase in fixed cost, in the short run, neither the market price nor the market quantity will change.
11.
In the long run, an increase in demand in a perfectly competitive, decreasing-cost industry will cause a fall in the market price and an increase in the market output.

12.
A monopoly will maximize total revenue by producing that output where MR = MC.
13.
When marginal costs decrease, a monopoly will usually lower its price and increase its level of output.

14.
If a U.S. consumer buys a pair of shoes made by an American-owned firm in Italy, consumption and imports increase, but there is no change in U.S. GDP.

15.
Official unemployment statistics overstate unemployment because discouraged workers who are not actively seeking work are counted as unemployed.

16.
Unanticipated inflation benefits creditors and savers.
17.
Holding everything else constant, if the U.S. dollar becomes stronger, U.S. net exports will increase.

18.
As one moves down the aggregate demand curve, both the price level and the interest rate decline.
19.
If the economy experiences an inflationary gap, Keynesian countercyclical policy calls for bigger deficits and an increase in the money supply.
20.
The Board of Governors of the Federal Reserve is a seven-member board, each one serving a 14-year term.
Part II.  Multiple Choice Questions (3 points each).  Indicate the best answer for each question on the answer sheet provided.

1.
Which of the following will cause the demand curve for product A to shift to the left?

A.
An increase in the price of substitute product B



D.
An increase in money income if A is a normal good

B.
An increase in money income if A is an inferior good


E.
An increase in the price of good A

C.
A decrease in the price of complementary product C

2.
Assume a country produces guns and butter and its production possibilities curve is a linear, negatively-sloped line.  As the country produces more guns:
A.
the opportunity cost of guns decreases.
B.
the opportunity cost of guns increases.
C.
the opportunity cost of guns remains constant.
D.
no conclusion can be made about the opportunity cost of guns as their production increases.
E.
it can also produce more butter.
3.
Which of the following would cause a production possibilities curve to shift to the left?
A.
An increase in capital.
B.
An increase in the unemployment rate to a level above the natural rate.





C.
An increase in the educational attainment of the population.
D.
An increase in labor supply.

E.
None of the above would cause the production possibilities curve to shift to the left.
Answer the next three questions on the basis of the production possibilities curves in Table I for Country I and Country II.
	Table 1

	Production Possibilities for Country I
	
	Production Possibilities for Country II

	
	A
	B
	C
	D
	E
	
	
	A
	B
	C
	D
	E

	Fish
	8
	6
	4
	2
	0
	
	Fish
	16
	12
	8
	4
	0

	Chips
	0
	10
	20
	30
	40
	
	Chips
	0
	12
	24
	36
	48


4.
On the basis of the information in Table 1, we can say that:

A.
both Countries I and II have specialized resources and exhibit the law of increasing cost.
B.
the opportunity cost of 1 fish in Country I is 3 chips.
C.
Country II should export both fish and chips while Country I exports neither of the two goods.

D.
Country II should export fish while Country I should export chips.

E.
Country II should export chips while Country I should export fish.

5.
Referring to the data in Table 1, which of the following would be a feasible terms of trade between Countries I and II?

A.
1 fish for 4 chips


D.
2 fish for 4 chips
B.
1 fish for 6 chips


E.
None of these answers would be a feasible terms of trade that benefits both countries.
C.
1 fish for 7 chips

6.
Refer to Table 1.  Assume that prior to specialization and trade, Country I was producing combination C and Country II was producing combination B.  If these two countries now specialize completely in accordance with comparative advantage, the total gains from specialization and trade would be:
A.
8 fish and 2 chips


D.
4 fish and 6 chips
B.
10 fish and 4 chips

E.
None of these answers.
C.
0 fish and 8 chips
7.
A leftward shift of a product’s supply curve might be caused by:

A.
An improvement in the relevant technique of production

D.
A decrease in the price of the product

B.
A decline in the prices of needed inputs





E.
Some firms leaving the industry

C.
An increase in the per unit subsidy paid to firms

8.
Assume the equilibrium price and quantity both decrease.  Which of the following best explains this occurrence?
A.
A simultaneous increase in demand and decrease in supply

D.
An increase in demand
B.
A simultaneous decrease in demand and increase in supply

E.
A decrease in supply
C.
A simultaneous increase in both demand and supply
9.
As price increases along a downward sloping, linear demand curve:

A.
the price elasticity of demand increases.



D.
the firm’s total revenue will always increase.

B.
the price elasticity of demand decreases.



E.
the firm’s total revenue will always decrease.

C.
the price elasticity of demand does not change.

10.
Which type of unemployment is most likely to lead to unemployed workers to retrain or relocate?
A.
cyclical unemployment.
B.
structural unemployment.

C.
frictional unemployment.

D.
seasonal unemployment

11.
Suppose there are two economies, Country I and Country II.  Both of these countries have the same production possibilities curves, producing capital and consumer goods.  Also assume both of these countries are currently producing the same point on each production possibilities curve.  If Country I then decides to devote more resources to capital goods relative to consumer goods compared to Country II, then we would most likely expect:
A.
there would be no shift in the current or future production possibilities curve for Country I and Country II; there would only be a difference in the current consumption of national output between consumer and capital goods.
B.
Country II to increase its current production of capital goods and its current production possibilities curve to shift inward.

C.
Country I will realize a greater shift outward in its future production possibilities curves compared to the shift for Country II.
D.
Country II will realize a greater shift outward in its future production possibilities curve compared to Country I.
E.
Country II to simultaneously increase production of both consumer and capital goods in the short run.
12.
Which of the following is not characteristic of a product with relatively inelastic demand?

A.
A price elasticity of demand that is less than one.

B.
Consumers have had only a short time period to adjust to changes in price.

C.
Buyers spend only a small percentage of their total income on the product.

D.
There are a large number of good substitutes for the good.
E.
The good is regarded by consumers as a necessity.

13.
If supply is perfectly elastic, then:
A.
an increase in demand causes an increase in market price, but there is no change in market quantity.

B.
an increase in demand causes an increase in the equilibrium quantity, but there is no change in the market price.

C.
the price elasticity of supply is equal to zero at every quantity.
D.
Both A and C.
E.
Both B and C.
14.
Suppose the price elasticity of demand for beer is zero.  If the government imposes an excise tax on sellers of beer, the burden of this tax will fall on:

A.
both consumes and firms by an equal amount.






D.
firms only.
B.
both consumers and firms, but consumers will have a larger tax burden.

E.
There is no way of knowing.
C.
consumers only.

15.
Suppose the United States eliminates tariffs on German ten-speed bicycles.  As a result, we would expect:

A.
the price of German bicycles to decline in the United States.
B.
employment would increase in the German bicycle industry.
C.
employment would decrease in the American bicycle industry.

D.
All of the above would occur.

E.
None of the above would occur.

16.
Which of the following is not correct?

A.
When marginal product is greater than average product, average product is rising.
B.
Output is maximized when marginal product equals zero.
C.
Diminishing returns initially set in when marginal product is negative.

D.
If output is falling, marginal product is negative.

E.
When marginal product is at its maximum, marginal cost is at its minimum.

17.
At the Terre Haute Piano Company, the average product of labor equals 5, regardless of how much labor is used.  We can say that:

A.
there are no fixed costs.
B.
this firm can never maximize profits.
C.
labor exhibits diminishing marginal returns regardless of how many workers are hired.

D.
the marginal product of labor is 5 regardless of how many workers are hired.

E.
marginal product increases, hits a maximum and then decreases.

18.
Which of the following statements is correct?

A.
When average variable cost is rising, average total cost must also be rising.
B.
The vertical distance between the ATC and AVC curves is equal to fixed cost.
C.
When fixed costs increase, the ATC, AVC, AFC and MC curves all shift up.

D.
If labor is the only variable input, then marginal cost equals the wage divided by the marginal product.

E.
The short-run average cost curves are U-shaped because of economies and diseconomies of scale.

19.
Marginal costs:

A.
intersects both the average total cost and the average variable cost curves at their minimum points.
B.
is equal to the difference between total cost and variable cost. 
C.
always decreases as output increases.
D.
rises for a time, but then begins to decline when the point of diminishing returns is reached.

E.
equals the slope of a straight line from the origin to the total cost curve.

20.
If the long-run average cost curve decreases as output increases, this is due to:
A.
the law of diminishing returns.
B.
diseconomies of scale. 

C.
economies of scale.
D.
deterioration of information and control within a firm as the plant size gets larger.

E.
B and D.

21.
In general, the short-run supply curve for a competitive firm is:

A.
the entire marginal cost curve.

B.
the segment of the marginal cost curve that lies above the ATC curve.

C.
the segment of the marginal cost curve that lies above the AVC curve.

D.
the upward-sloping segment of the marginal cost curve.

E.
the upward-sloping segment of the ATC curve.
22.
A purely competitive firm’s output is currently such that its marginal cost is $4 and marginal revenue is $5.  Assuming the firm maximizes profit, the firm should:
A.
cut its price and raise its output.



D.
leave price unchanged and decrease output.
B.
raise its price and cut output.




E.
shut down in the short run and lose its fixed cost.
C.
leave price unchanged and increase output.

23.
Assume a perfectly competitive, constant-cost industry was in long-run equilibrium and demand decreased.  In the short run:

A.
new firms enter the industry, the price returns to the initial level, and all firms earn normal profits.

B.
firms exit the industry, the price returns to the initial level, and all firms incur a loss.

C.
market price falls, market output falls, the output of the typical firm isn’t affected, and all firms earn normal profits.

D.
market price falls, market output falls, the output of the typical firm falls, and all firms incur losses.

E.
market price increases, market output increases, the output of the typical firm increases, and all firms earn economic profits.

24.
Assume a perfectly competitive, constant-cost industry was in long-run equilibrium, demand decreased, and the industry moved to its new short-run equilibrium.  After the industry adjusts to its new long-run equilibrium, there will be:

A.
no change in industry price, a typical firm will make zero economic profit, and there will be less industry output.

B.
no change in industry price, a typical firm will incur a loss and produce a lower output.

C.
less industry output but no change in the number of firms in the industry, and a typical firm will be making zero economic profit.

D.
less industry output, fewer firms in the industry, and a typical firm will incur a loss.

E.
an increase in the market price compared to the initial price, a decrease in output, fewer firms and all firms will earn only a normal profit.

25.
If the long-run industry supply curve for a competitive industry is upward sloping, then:

A.
input prices increase as firms exit the industry. 

B.
input price decrease as firms exit the industry.




C.
in the long run, an increase in demand will cause a fall in price and an increase in output.
D.
input prices remain constant as firms exit the industry.

E.
input price decrease as firms enter the industry.

26.
Which one of the following statements about a monopolist is true?
A.
A monopolist faces a perfectly inelastic demand curve.

B.
Patents are not a barrier to entry.

C.
A monopolist will maximize profit by producing that output where P = MC.

D.
A monopolist produces a standardized or homogeneous product.

E.
A profit-maximizing monopolist will never produce in the inelastic portion of its demand curve.
27.
If all costs are fixed in the short run, a monopoly:
A.
maximizes profit by producing an output with elastic demand.


D.
cannot maximize profit.

B.
maximizes profit by producing an output with inelastic demand.

E.
would leave the industry in the short run.

C.
maximizes profit by producing that output with unitary elastic demand.
28.
A profit-maximizing (or loss-minimizing) monopoly would shut down in the short run if:
A.
it can’t cover its total cost.


D.
a profit-maximizing monopolist will never shut down in the short run.

B.
it can’t cover its variable cost.

E.
a monopoly will never incur a loss in the short run.
C.
it can’t cover its fixed cost.

29.
If an American student buys a computer from a Korean-owned company operating in Switzerland, then:
A.
U.S.net exports decrease, U.S. GDP and GNP are unaffected, Korean GDP increase, and Swiss GNP increases.

B.
U.S. net exports decrease, U.S. GDP and GNP decrease, Korean GDP increases, and Swiss GDP increases.
C.
U.S. net exports are unaffected, U.S. GDP and GNP are unaffected, Korean GNP increases, and Swiss GDP increases.

D.
U.S. net exports decrease, U.S. GDP and GNP are unaffected, Korean GNP increases, and Swiss GDP increases.

E.
None of the above.

30.
If real GDP is less than full-employment output, then the _____ and the price level _____.
A.
aggregate demand curve shifts to the left; falls



D.
short-run aggregate supply curve shifts to the left; rises

B.
aggregate demand curve shifts to the right; rises



E.
long-run aggregate supply curve shifts to the right; falls

C.
short-run aggregate supply curve shifts to the right; falls

31.
In GDP accounting, investment is:
A.
spending on stocks, bonds, and financial assets.

B.
spending on real estate and financial assets.
C.
spending on capital equipment, inventories and structures, including new residential construction.

D.
spending on capital equipment, inventories and structures, excluding residential construction.

E.
household spending on durable goods, nondurable goods, and services.

32.
The inflation rate is calculated by:
A.
a survey of consumer spending.

B.
adding up the price increases of all goods and services.
C.
averaging the increases in the output of all consumer goods and services.

D.
determining the percentage increase in the price index from the preceding period.

E.
dividing nominal GDP by the GDP price deflator and multiplying the resulting answer by 100.

33.
Which of the following would most likely cause the aggregate demand curve to shift to the right?


A.
A decrease in the price level.







D.
A decrease in future profits expected by firms.
B.
A decrease in stock prices which reduces consumer wealth.
E.
An increase in the federal government budget deficit.
C.
America’s foreign trading partners experience a recession.

34.
Which of the following would most likely cause the short-run aggregate supply curve to the right?


A.
An increase in the price level.











D.
An increase in the price of crude oil.

B.
Unions accept a wage cut.












E.
An increase in expected inflation. 

C.
The economy is experiencing an inflationary gap with a tight labor market.

35.
Which of the following would most likely cause the long-run aggregate supply curve to the left?


A.
A decrease in the price level.





D.
Technological progress.









B.
An increase in the labor supply.




E.
An increase in the supply of natural resources.
C.
An increase in the natural unemployment rate.

36.
An increase in the supply of loanable funds will cause:


A.
an increase in bond prices.









B.
an increase in consumption.
C.
the dollar to depreciate.

D.
All of the above.

E.
None of the above.

37.
Which of the following would cause stagflation?


A.
The aggregate demand curve shifts to the right.


D.
The short-run aggregate supply curve shifts to the left.


B.
The aggregate demand curve shifts to the left.


E.
The long-run aggregate supply curve shifts to the right.
C.
The short-run aggregate supply curve shifts to the right.

38.
Suppose the economy is initially in long-run equilibrium and aggregate demand increases.  In the long run, prices:


A.
and output are higher.



D.
are lower and output is the same.
B.
and output are lower.



E.
are the same and output is lower.
C.
are higher and output is the same. 

39.
To decrease the interest rate, the Federal Reserve:
A.
conducts an open market operation by buying government securities.



B.
conducts an open market operation by selling government securities.

 
C.
raises the discount rate.
D.
increases the required reserve ratio.

E.
increases government spending and decreases taxes.

40.
Suppose that the economy is at the natural rate of output. In the absence of accommodating policy and everything else held constant, the net result of a negative supply shock is that:
A.
the economy returns to full employment at a higher price level.

B.
the economy returns to full employment at a lower price level.

C.
aggregate output increases above the natural rate level, but only temporarily.
D.
the economy returns to full employment at the initial price level.
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PART I. TRUE (T) or FALSE (F)

PART II. MULTIPLE CHOICE

(1 point each)




(3 points each)

--------------------------------------------

------------------------------------------------------------------------------

1. ______
11. ______


1. ______
11. ______
21. ______
31. ______
2. ______
12. ______


2. ______
12. ______
22. ______
32. ______

3. ______
13. ______


3. ______
13. ______
23. ______
33. ______

4. ______
14. ______


4. ______
14. ______
24. ______
34. ______

5. ______
15. ______


5. ______
15. ______
25. ______
35. ______

6. ______
16. ______


6. ______
16. ______
26. ______
36. ______

7. ______
17. ______


7. ______
17. ______
27. ______
37. ______

8. ______
18. ______


8. ______
18. ______
28. ______
38. ______

9. ______
19. ______


9. ______
19. ______
29. ______
39. ______

10. _____
20. ______


10. _____
20. ______
30. ______
40. ______

Part III. Short Answer Questions (60 points).  Give a complete, but concise answer for each of the following questions.  Answer each question with complete sentences.  Use math, graphs, or equations to help explain each answer.  If you require more space, write on the back, indicating that you have done so and clearly labeling each answer.
1.
Assume both current owners of stock X and persons considering buying stock X expect the price of the stock to fall in the future.  What will happen to the current price and quantity of stock X?  Explain.  (10 points)
2.
Assume a perfectly competitive industry is composed of many firms and consumers can buy output from any of the firms at the market price.  One of the firms is located in Terre Haute.  Assume the City of Terre Haute requires the firm to pay a $1,000 regulatory fee.  What will happen to the market price and the market output, both in the short-run and in the long-run, for both the Terre Haute firm and the rest of the industry?  Explain.  (10 points)
3.
Assume the economy is at full employment.  Using the aggregate demand-aggregate-supply model, illustrate and explain the short-run effects and long-run effects of an increase in government spending.  Explain how the long-run results are consistent with perfect crowding out and explain why consumption, investment, and net exports fall.  (10 points)
4.
The table below describes the demand curve and the cost schedule for a monopolist.  Using this data, answer the following questions.  (10 points)
	Price
	$16
	$15
	$14
	$13
	$12
	$11
	$10
	$9

	Quantity Demanded
	0
	10
	20
	30
	40
	50
	60
	70

	Total Costs
	$30
	$100
	$170
	$240
	$310
	$380
	$450
	$520


A.
Using the concepts of marginal revenue and marginal cost, determine the profit‑maximizing level of output for the monopolist.  What price does the profit‑maximizing monopolist charge?  Explain.  What are the firm’s profits?  Show your work.  (5 points)
B.
Now assume that the government imposes a $2 per unit excise tax on the monopolist.  How much output will the profit‑maximizing monopolist now produce?  What is the corresponding profit‑maximizing price?  Explain.  What is the after‑tax profit for the firm?  How much money does the government collect in taxes?  Show your work.  (5 points)
5.
Assume the economy is at full employment.  Using the aggregate demand-aggregate-supply model, illustrate and explain the short-run effects of a decrease in housing prices that reduces household wealth.  Using your graph, illustrate and explain how the self-correcting mechanism will return the economy to full-employment output in the long-run.  Given the decrease in housing prices, illustrate and explain how fiscal and monetary policy could be used to return the economy to full employment.  (10 points)
6.
Describe the Classical Quantity Theory of Money.  What is the equation of exchange and what assumptions are made about some of its terms?  According to this theory, what is the long-run cause of inflation?  (10 points) 
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